
 

 

Answer on Question #50614 – Math – Statistics and Probability 

A random sample of 33 individuals has an average age of 28 with a standard deviation of 5.  

Find the margin of error for a 98% level of confidence. 

Solution 

The margin of error 𝐸 is 

𝐸 = 𝑧∗
𝜎

√𝑛
, 

where 𝜎 is a standard deviation, 𝑛 is a sample size. To find 𝑧∗, take z-score, because 𝑛 > 30.  

𝛼 = 1 −
98

100
= 0.02. 

The critical probability is 

𝑝 = 1 −
𝛼

2
= 0.99. 

𝑧∗ = 2.33 for a 98% level of confidence (from the z-table). 

The margin of error for a 98% level of confidence is 

𝐸 = 2.33 ∙
5

√33
= 2.03 𝑦𝑒𝑎𝑟𝑠. 

Answer: 𝟐. 𝟎𝟑 𝒚𝒆𝒂𝒓𝒔. 
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